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BECC-108 : INTERMEDIATE MICRO- 

ECONOMICS—II 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from each Section as per 

the given instructions. 

 Section-A : Answer any two questions from 

this Section. Each questions carries 20 

marks. 

 Section-B : Answer any four questions from 

this Section. Each question carries 12 marks. 

 Section-C : Answer both questions from this 

Section. Each question carries  

6 marks. 
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Section—A 

1. (a) Suppose a profit maximizing monopolist is 

producing 800 units of output and is 

charging a price of ` 40 per unit. 12 

 (i) If the elasticity of demand for the 

product is – 2, find the marginal cost 

of the last unit produced. 

 (ii) What is the firm’s percentage markup 

of the price over marginal cost ? 

 (iii) Suppose that the average cost of the 

last unit produced is ` 15. Find the 

firm’s profit. 

(b) Differentiate between perfect competitive 

market structure with that of monopoly. 8 

2. (a) Why does market fail in the presence of 

public goods ? Explain the Samuelson-

Musgrave solution to optimal allocation of 

a public good. 12 

(b) Define externality. Explain the Coase 

theorem. 8 
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3. (a) Suppose the demand curve of a firm in a 

monopolistic competitive market is as 

follows :  

p = a – bq 

 where p and q are respectively price and 

output of the firm. The constant marginal 

cost of the firm is C. Find the deadweight 

loss. Also draw the diagram. 10 

(b) A duopoly faces the inverse demand curve : 

P = 160 – 2Q 

 Both firms in the industry have constant 

costs of ` 10 per unit of output. In Cournot 

equilibrium, how much output will each 

duopolist sell ? 10 

4. (a) Show that the condition for overall 

efficiency is : 10 

A B
XY XY XYMRS MRS MRT   

(b) Explain how a society attains maximum 

social welfare. 10 
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Section—B 

5. Following is the payoff matrix in strategic form 

in which two players have two strategies each : 

Player 2 

  Left Right 

Player 1 
Top (7, 4) (5, 3) 

Bottom (4, 0) (3, – 1) 

(i) Write the game in extensive form. 4 

(ii) Find Nash equilibrium of the game. 4 

(iii) Find dominant strategies of both players. 4 

6. With the help of a diagram, derive a grand 

utility possibility curve and mark the point of 

“constrained bliss”. 12 

7. A monopoly faces a linear demand curve  

P = 100 – 0.01Q. Firm’s total cost function is  

C = 30,000 + 50Q. 12 

(i) Determine the profit maximizing price and 

output. 

(ii) Find the magnitude of the profit earned 

and deadweight loss. 
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8. Suppose a monopolistic competitive firm is 

earning positive economic profits in the short- 

run. Analyse the long-run equilibrium situation 

of this firm. Illustrate. 12 

9. What are the different ways of correcting the 

market failure resulting in the presence of 

negative externality ? 12 

10. Define Bertrand Paradox. Explain the concept 

of Bertrand equilibrium, using reaction  

curves.   12 

11. How does market for lemons leads to adverse 

selection ?  12 

Section—C 

12. Write short notes on any two of the following :  

2×3=6 

(i) Natural monopoly 

(ii) Stackelberg Model 

(iii) Principal Agent problem 

(iv) Contract curve 
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13. Differentiate between any two of the following : 

2×3=6 

(i) Partial equilibrium and General 

equilibrium 

(ii) First degree and Third degree price 

discrimination 

(iii) Public good and Private good 

(iv) Non-cooperative and Cooperative games  
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(i) – 2  ]

(ii)
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p = a – bq 

p q

C 

P = 160 – 2Q 

 

` 10 

10 

A B
XY XY XYMRS MRS MRT   
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(7, 4) (5, 3) 

(4, 0) (3, – 1) 
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P = 100 – 0.01 Q

C = 30,000 + 50Q 

(i) 

(ii) 
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